Name A : K Diff. Equations and Lin. Alg.
Math 3280

Quiz 1, Spring 2020
B. Peckham

1. (3 pts) Verify that the function ¢(z) = 2€3* — 4€* is a solution to the differential
equation y” (z) — 5y (m) + 6y(x) = 0. Show your work.
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2. Consider the differential equation % L=y 3.

(a) (3 pts) Find the general solut1on Show your work.
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(b) (1 pt) What is the particular solutlon corres;;ondlng to y(0) = 17
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(¢) (+1 pt Extra Credit) What is the domain Gf’ the_soluill on correspondlng to the
T

initial condltlon y(0) =17 Salm,{w L L B S yu*i ’
% = + bm_a(. =4y :1 5’7] &L, 3 'tl' S e
3. (3pts)“The slope field prov1ded below is for tﬁe dlfferentlal equation dy/dz = f(z,y),

where the formula for f(z,y) is not given. Condider the initial value problem given
by dy/dz = f(z,y) and y(1) = —1. Sketch and label three functions on the graph
that satisfy: (a) the differential equation, but not the initial condition, (b) the initial
condition, but not the differential equation, (c) both the differential equation and the

initial condition
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